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A

nuÛÑ́ s¡Tú\≈£î dü÷#·q\T:/ Instructions to the Candidates

1. |üØøå± ãTø˘̋ …{ŸqT rdüTø=qï yÓ+≥H˚ ãTø˘̋ …{Ÿ m&ÉeTyÓ’|ü⁄ uÛ≤>∑+˝À ñqï u≤≈£î‡˝À MT Vü‰ Ÿ̋ {Ï¬ø{Ÿ HÓ+ãs¡T

sêj·÷*.

Write your Hall Ticket Number in the box provided at the left side of the booklet immediately

after receiving the Test Booklet.

2. á ù|J ô|’ uÛ≤>∑+˝À eTTÁ~+∫q $<Ûä+>± |üØøå± ãTø˘̋ …{Ÿ̋ À nìï ù|J\T ñHêïjÓ÷ Ò̋<√ |ü]o*+#·Tø√yê*.

Check whether the Test Booklet contains as many pages as are printed on the top of this page.

3. |üØøå± ãTø˘̋ …{Ÿ̋ Àì nìï ù|J˝À¢ eTTÁ<äD es¡Tdü Áø£eT+˝À |ü]>± ñ+<√ Ò̋<√ dü] #·÷düTø√yê*. |üØøå±

ãTø˘̋ …{Ÿ̋ Àì @ ˇø£ÿ ù|Jì rdæy˚j·T≈£L&É<äT.

Check whether all the pages are printed in sequence properly. Do not remove any pages from

the Test Booklet.

4. MT düe÷<ÛëHê\T Ç∫Ãq OMR düe÷<Ûëq Á|ü‘·+˝ÀH˚ >∑T]Ô+#ê*. OMR düe÷<Ûëq |üÁ‘êìøÏ Çs¡TyÓ’|ü⁄˝≤

Ç∫Ãq dü÷#·q\qT #·~$ ‘·<äqT>∑TD+>± bÕ{Ï+#ê*. |üØøå± ãTø˘̋ …{Ÿ̋ À düe÷<ÛëHê\T sêj·T≈£L&É<äT.

Indicate your answers on the given OMR answer sheet only. Read the instructions given on

both sides of the OMR answer sheet and follow them accordingly. Do not write the answwrs

in the Test Booklet.

5. á |üØø£å ãTø˘̋ …{Ÿ̋ À 150 ãVüQfiË’∫Ã¤ø£ Á|üXÊï\THêïsTT. nìï Á|üX¯ï\≈£î düe÷<ÛëHê\T  Çyê«*. Á|ü‹ Á|üX¯ï≈£î ̌ ø£

e÷s¡Tÿ(1) e÷Á‘·y˚T ñ+≥T+~. HÓ>∑{Ïyé e÷s¡Tÿ\T O+&Ée⁄.

This Test Booklet consists of 150 multiple choice questions. Answer all the questions. Each

question carries one (1) mark only. NO Negative marks.

6. |üØøå± ãTø˘̋ …{Ÿ̋ À m˝≤+{Ï ∫‘·TÔ |üì #˚j·T≈£L&É<äT. |üØøå± ãTø˘̋ …{Ÿ ∫es¡̋ À Ç∫Ãq ‘Ó\¢ ø±–‘êìï e÷Á‘·y˚T

∫‘·TÔ |üì¬ø’ $ìjÓ÷–+#ê*.

Do not do any rough work in the Test Booklet. Use only the white paper provided at the end

of the question booklet for rough work.

7. |üØø£å |üP]Ô nsTTq yÓ+≥H˚ OMR düe÷<Ûëq |üÁ‘êìï Vü‰\T dü÷|ü]+f…+&Ó+{Ÿ≈£î ‘·|üŒì dü]>± n+<äCÒj·÷*.

After completion of the examination, hand over the OMR answer sheet to the Hall Superinten

dent without fail.

8. ìπsΔ•+∫q |üØø£å düeTj·T+ |üP]Ô ø±≈£î+&Ü |üØøå± >∑~ì $&ç∫ yÓfi‚fl+<äT≈£î nuÛÑ́ ]úì nqTeT‹+#·s¡T.

Condidate will not be permitted to leave the examination hall till the completion of the stipu

lated examination time.
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1) q+~ì Á|ües¡Ôq˝À m˝≤+{Ï •ø£åD n<Ûä́ j·Tq+ ̋ Ò≈£î+&Ü

Áø£eT+>± dü+uÛ Ñ$+∫q e÷s¡TŒ\qT á $<Ûä+>±

|ü]>∑DÏ+#·e#·TÃ.

1) |ü]düsê\ e\¢ @s¡Œ&çq $ø±dü+.

2) ô|s¡T>∑T<ä\ e\¢ @s¡Œ&çq $ø±dü+.

3) düe÷»+ e\¢ @s¡Œ&çq $ø±dü+.

4) |ü]D‹ e\¢ @s¡Œ&çq $ø±dü+.

The gradual changes in Nandini’s
behaviour without any training or learn-
ing can be considered as ______.
1) Development caused by the environment
2) Development caused by growth
3) Development caused by society
4) Development caused by maturity

2) mHéd æm|ò t`2005 bÕsƒê´+XÊ\˝À bÕ≥T düV ü≤

bÕsƒê´+XÊ\≈£î ≈£L&Ü ÁbÕ<Ûëq´‘·qT Çyê«* nì

dü÷∫+#·&É+ á $ø±dü ìj·Te÷ìï |ü]>∑D˝ÀìøÏ

rdüT≈£îqï≥T¢>± #Ó|üŒe#·TÃqT.

1) $ø±dü+ |üs¡düŒs¡ dü+ã+<Ûë\T ø£*– ø=qkÕ>∑TqT.

2) $ø±dü+ |üs¡düŒs¡ #·s¡́ .

3) $ø±dü+ dü+∫‘·yÓTÆq~.

4) $ø±dü+ K∫Ã‘·yÓTÆq es¡TdüÁø£eT+˝À »s¡T>∑TqT.

As per NCF-2005, co-curricular activities
are also given priority on par with
curricular activities. This development is
based which of the following
considerations?
1) Development continues to have

interrelationships
2) Developmental interaction
3) Development is cumulative
4) Development takes place in a

chronological order
3) j·Te«Hês¡+uÛÑ <äX¯≈£î dü+ã+~Û+∫ dü]jÓÆTq~ ø±ì~.

m) ì]Δwüº ej·TdüT‡ ô|’q Ä<Ûës¡|ü&É<äT.

_) …̋’+–ø£ |ü]D‹øÏ <ë]rùd ô|s¡T>∑T<ä\ Vü‰s√àq¢

e÷s¡TŒ <äX¯.

dæ) u≤*ø£\˝À ø£+fÒ eTT+<äT u≤\Ts¡̋ Àø£\T>∑TqT.

&ç) øöe÷s¡ <äX¯e …̋ $dü‘·ÔèyÓTÆq~.

1) m, dæ 2) m, &ç

3) m, _ eT]j·TT &ç 4) dæ, &ç

Which of the following are not true with

respect to adolescence?

a) Doesnot depend on specific age

b) Stage of change due to growth hormone

that leads to sexual maturity

c) Occurs earlier in boys than in girls

d) As extensive as the adolescent phase

1)  a, c 2) a , d

3)  a, b &d 4) c , d

4) dæ<ëΔs¡ú Hêsêj·TD ‘·q düeT÷Vü≤+˝À ‘·q kÕ+|òæTø£ dæú‹ì

ø±≈£î+&Ü Ç‘·s¡T\ kÕ+|ò æTø£$T‹ ≈£L&Ü ns¡ ú+

#˚düTø√>∑\T>∑T‘·THêï&ÉT. nsTTq n‘·qT á <äX¯≈£î

#˚s¡T≈£îqï≥T¢ #Ó|üŒe#·TÃ.

1) XË’X¯e <äX¯ 2) |üPs¡« u≤\´ <äX¯

3) ñ‘·Ôs¡ u≤\´ <äX¯ 4) øöe÷s¡ <äX¯

Siddartha Narayana is able to understand

not only his social status of his group but

also the social status of others. Therefore,

he has reached which stage?

1) Infancy stage

2) Early childhood stage

3) Late childhood stage

4) Adolescent stage

5) qπswt#·+Á<ä ‘˚CŸ ªªeT+#·TqT ˙s¡T>± e÷s¡Ãe#·TÃ. ø±˙

˙{Ïì ‹]– eT+#·T>± e÷s¡Ã Ò̋eTTμμ nì uÛ≤$düTÔHêï&ÉT.

nsTTHê |æj·÷CÒ Á|üø±s¡+ BìøÏ ø±s¡D+ eT]j·TT n‘·qT

ø£*– ñqï <äX¯ 

1) π̌ø $X‚wüø£+ ô|’ <äèwæº πø+ÁBø£]+#·&É+ eT]j·TT

|üPs¡« Á|ü#ê\ø£ <äX¯

2) |ü]es¡Ôq\ô|’ <äèwæº ì\|ü&É+ eT]j·TT eT÷s¡Ô

Á|ü#ê\ø£ <äX¯.

3) |ü]es¡Ôq\ô|’ <äèwæº ì\|üø£b˛e&É+ eT]j·TT |üPs¡«

Á|ü#ê\ø£ <äX¯.

4) ˇπø $X‚wüø£+ô|’ <äèwæº πø+ÁBø£]+#·ø£ b˛e&É+

eT]j·TT |üPs¡« Á|ü#ê\ø£ <äX¯

PART - I: •X¯ó $ø±dü+   ô|&É>±õ (CHILD DEVELOPMENT AND PEDAGOGY)
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Naresh Chandra Tej thinks that “ice can

be turned into water but water cannot be
turned back into ice”. However according
to Piaget, the reason for this and the stage
he is in ____________.
1) Focusing on a single adjective and pre-

activation step

2) Focusing on transitions and tangible

campaign phase

3) Lack of focus on transitions and pre

campaign phase

4) Lack of focus on a single adjective and pre

activation phase

6) |üPs¡í nH̊ ñbÕ<Ûë´j·TTsê\T Á|üuÛÑT‘·«+ qT+&ç m≥Te+{Ï

Ä<˚XÊ\T ̋ Òø£b˛sTTq|üŒ{ÏøÏ bÕsƒ¡XÊ\ ÁbÕs¡+uÛÑ+ qT+&˚

ÄHé̋ …’q ø±¢düT\T uÀ~Û+∫q~. nsTTq ÄyÓT ø√˝ŸãsYZ

Á|üø±s¡+ á HÓ’‹ø£ $ø±dü <äX¯≈£î #Ó+<äTqT.

1) Hê\T>∑e <äX¯ ` dü+Á|ü<ëj·T kÕúsTT.

2) ◊<äe <äX¯ ` ñ‘·Ôs¡ dü+Á|ü<ëj·T kÕúsTT.

3) Äs¡e <äX¯ ` ñ‘·Ôs¡ dü+Á|ü<ëj·T kÕúsTT.

4) eT÷&Ée <äX¯ ` dü+Á|ü<ëj·T kÕúsTT.

Poorna, a teacher conducted online classes
from the beginning even though there are
no orders from government to that effect.
This gesture of Poorna reflects which stage
of moral development as per Kohlberg’s
Theory?
1) Fourth stage conventional level

2) Fifth stage Post conventional level

3) The sixth stage Post conventional level

4) Third stage conventional level

7) 5 dü+e‘·‡sê\ ‘˚» jÓTTø£ÿ Á|üC≤„ \_› 125 nsTTq

n‘·ì e÷qdæø£ ej·TdüT m+‘·.

1) 72 HÓ\\T 2) 75 HÓ\\T

3) 90 HÓ\\T 4) 84 HÓ\\T

Five-year Teja’s intellectual gain is 125.
What is his mental age?
1) 72 months 2) 75 months

3) 90 months 4) 84 months

8) dæ] øÏ dü+^‘·+˝À eT]j·TT ∫Á‘·̋ ÒKq+˝À n$T‘·yÓTÆq

ÄdüøÏ Ô ñ+~. á ¬s+&ç+{Ï˝À @<√ ˇø£ <ëìì

mqTïø=qT≥≈£î ÄdüøÏÔ‘√ bÕ≥T Á|ü<Ûëq+>± |ü]>∑D˝ÀìøÏ

rdüTø=qe*‡q~.

1) yÓ’K] 2) düVü≤» kÕeTs¡Δ́ +

3) ‘·*¢<ä+Á&ÉT\ Áb˛‘ê‡Vü≤+ 4) ñ<˚«>±\T

Siri has a keen interest in music and
painting. What is to be considered along
with interest if she has to choose only one?
1) Attitude
2) Natural ability
3) Encouragement from Parents
4) Emotions

9) düè»Hê‘·àø£‘· eT]j·TT Á|ü»„ eT<Ûä́  >∑\ dü+ã+<Ûä+.

1) dü>∑≥T Á|ü»„ \_› ø£Hêï m≈£îÿe Á|ü»„ ø£*–q

$<ë´s¡Tú\˝À <ÛäHê‘·àø£ dü+ã+<Ûä+

2) <ÛäHê‘·àø£ dü+ã+<Ûä+

3) s¡TD≤‘·àø£ dü+ã+<Ûä+

4) ì]›wüº dü+ã+<Ûä+ Ò̋<äT

The relationship between creativity and
intelligence is _______.
1) Positive relationship with students of

higher intelligence than average
intellectual gain

2) Positive relationship
3) Negative relationship
4) No specific relationship

10) $C≤„q XÊÁdüÔ Á|ü<äs¡Ùq Çwüº|ü&Éì $<ë´s¡Tú\T Á|ü<ä]Ù+#˚~

yê]

1) ‘·≈£îÿe Á|ü»„ 2) nuÛÑ́ düq ø±]ƒq´‘·

3) yÓ’K] 4) eT÷]ÔeT‘·«+

What is reflected by students who do not
like science fairs?
1) Low intelligence 2) Learning rigidity
3) Attitude 4) Embodiment

11) &ûm&é |üP]Ô #˚dæq uÛ≤eq &ûmd”‡ H√{Ï|òæπøwüHé eT]j·TT

Á>∑÷|t̀ 4 ñ<√´>±\≈£î H√{Ï|òæπøwüHé π̌økÕ] sêe&É+

e\q <˚ìøÏ Á|æù|sY nyê«˝À ìs¡ísTT+#·Tø√ Ò̋ø£b˛e&É+

á dü+|òüTs¡̧DqT dü÷∫+#·TqT.

1) ñ|ü>∑eT ñ|ü>∑eT 2) ñ|ü>∑eT |ü]Vü‰s¡

3) |ü]Vü‰s¡ |ü]Vü‰s¡ 4) ~« ñ|ü>∑eT |ü]Vü‰s¡

www.telugueducation.in
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The notification for DSC and Group 4
services are announced simultaneously.
Bhavana who completed her D.Ed course
is unable to decide what exam to prepare
for. This indicates which type of conflict?
1) Approach – Approach conflict
2) Approach – Avoidance conflict
3) Avoidance – Avoidance conflict
4) Double Approach – Avoidance conflict

12) kÕe÷õø£+>± n+^ø±s¡ Ä˝À#·q\T eT]j·TT

Á|ü#·Ts¡D\T #̊‘·q+ qT+&ç n#̊‘·q+ ̋ ÀìøÏ HÓ{Ïºẙj·T&É+

Ç˝≤ |æ\TkÕÔs¡T.

1) Á|ü‹ >∑eTq+ 2) <äeTq+

3) ùV≤‘·Tø°ø£s¡D+ 4) #·s¡́  @s¡Œ&ÉT≥

The act of pushing back socially accepted
ideas,and consciousness created by
literature and publications into Oblivion
is called as
1) Regression   2) Repression
3) Rationalization  4) The formation of action

13) n_Û»„ ‘·q düVü≤#·s¡T\‘√ b˛*ùdÔ n~Ûø£ Ä˝À#·HêX¯øÏÔ,

$y˚#·Hê X¯øÏÔ, <Ûës¡D≤X¯øÏÔ, ‘Ó*$‘˚≥\qT ø£*– ñ+~.

nsTTq, ‘·q yÓT<ä&ÉT˝Àì á uÛ≤>∑+ jÓTTø£ÿ ìsêàDeTT

eT]j·TT |üìrs¡T BìøÏ ø±s¡D+.

1) ôV’≤b˛‘·̋ ≤eTdt 2) eTdæÔwüÿ e\ÿ\eTT

3) <ë«s¡ >√s¡ú+ 4) nqT eTdæÔwüÿ+

Abhigna has higher thinking ability,
perceptive power, retention intelligence
compared to his peers. This is due to the
structure and function of which part of his
brain?
1) Hypothalamus 2) The cerebral cortex
3) Amygdala 4) Medulla oblongata

14) Ç+≥s¡÷«´ |ü<äΔ‹ <ë«sê ùdø£]+∫q düe÷#ês¡+ dü¬s’q~

ø±<äT nqT≈£îqï|ü&ÉT ñbÕ<Ûë´j·TT&ÉT á ÁøÏ+~ |ü<äΔ‹ì

ñ|üjÓ÷–+#·e#·TÃqT.

1) |ü]o\q |ü<äΔ‹ 2) ∫øÏ‘ê‡ |ü<äΔ‹

3) n+‘·:|üØø£åD |ü<äΔ‹ 4) øöì‡\sY |ü<äΔ‹

The teacher could use which of the
following method when the information
gathered through the interview method is
incorrect.
1) Observation 2) Therapeutic method
3) Introspection 4) Counselling

15) nuÛÑ́ düq+ >∑T]+∫ dü¬s’q Á|üe#·q+.

1) nuÛÑ́ düq+ ˇø£ |òü*‘·+ ø±˙ Á|üÁøÏj·T ø±<äT

2) nuÛÑ́ düq+ e÷qe⁄\≈£î e÷Á‘·y˚T #Ó+~q Á|üÁøÏj·T

3) nuÛÑ́ düq+ Á|ü‘·́ ø£å nqTuÛÑyê\ |òü*‘·+ e÷Á‘·y˚T

4) nuÛÑ́ düq+ dü+∫‘·yÓTÆq~

Identify the correct statement regarding
learning.
1) Learning is a result but not a process
2) Learning is a process observed only in

humans
3) Learning is the result of direct

experience
4) Learning is cumulative

16) ˇø£≥e ‘·s¡>∑‹ #·<äTe⁄‘·Tqï ˝ø°åà ôd\e⁄ ~qeTT\˝À

≈£L&Ü Ä≥\T Ä&É≥+ |ü≥¢ ø±≈£î+&Ü ‘·q+‘·≥ ‘êH˚

>∑DÏ‘·+ H˚s¡TÃø√e≥+ |ü≥¢ <äèwæº ì\T|ü⁄‘·T+~. Ç~ á

s¡ø£yÓTÆq Áù|s¡D.

1) ãVæ≤s¡Z‘· Áù|s¡D 2) n+‘·s¡Z‘· Áù|s¡D

3) kÕ<Ûäq Áù|s¡D 4) kÕs|òæTø£ Áù|s¡D

Laxmi, who is studying in the first class, is
not interested in playing games even on
holidays and instead focuses on learning
mathematic on her own. This kind of
motivation is known as _____.
1) External motivation   2) Internal motivation
3) Practice motivation   4) Social motivation

17) ø£|æ̋ Ÿ ˇø£ $wüj·÷ìï H˚s¡TÃø√e{≤ìøÏ yÓTT<ä≥ ns¡yÓ’

Á|üj·T‘êï\T rdüT≈£îHêï&ÉT. |ü~ s√E\ ‘·sê«‘· n<˚

$wüj·÷ìï eTs¡˝≤ H˚s¡TÃø√e{≤ìøÏ 20 Á|üj·T‘êï\T

‘·≈£îÿe rdüT≈£îHêï&ÉT. nsTTq, n‘·ì bı<äT|ü⁄ >∑Dq

XÊ‘·+

1) 33.3 2) 66.6 3) 15 4) 20

Kapil initially made sixty attempts to learn
a subject and ten days later took twenty
attempts less to learn the same subject.
Calculate the percentage of time saved in
the second attempt.
1) 33.3% 2) 66.6% 3) 15% 4) 20%

18) ≈£îe÷sY nqT ñbÕ<Ûë´j·TT&ÉT ‘·s¡>∑‹˝Àˇø£ uÛ≤yêìï

ø£<∏ä s¡÷|ü+˝À #Ó|æŒ n<˚ $wüj·÷ìï $<ë´s¡Tú\‘√

Ç‘·s¡T\≈£î #Ó|æŒ+#ê&ÉT. nsTTHê n‘·qT $<ë´s¡Tú\˝À

Bìì e÷|üq+ #˚j·T<ä*#ê&ÉT.

1) >∑T]Ô+|ü⁄ 2) |ü⁄q:düàs¡D+

3) |ü⁄qs¡uÛÑ́ düq+ 4) yÓ’Ks¡T\T

www.telugueducation.in
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Kumar, a teacher presents a concept using
story form and asks the students to convey
the concept in theirown words. The teacher
is assessing _________.
1) Identification 2) Recall
3) Recapitulation 4) Attitude

19) düàè‹ Á|üÁøÏj·T »]π> dü¬s’q Áø£eT+

1) <Ûës¡D `mH√ÿ&ç+>¥ `»„|æÔøÏ ‘Ó#·TÃø√e&É+

2) <Ûës¡D ` »„|æÔøÏ ‘Ó#·TÃø√e&É+ ` mH√ÿ&ç+>¥

3) mH√ÿ&ç+>¥ ` »„|æÔøÏ ‘Ó#·TÃø√e&É+ ` <Ûës¡D

4) mH√ÿ&ç+>¥ ` <Ûës¡D ` »„|æÔøÏ ‘Ó#·TÃø√e&É+

Identify the correct sequence in which the
memory process takes place.
1) Retention - Encoding - Recall

2) Retention - Recall - Encoding

3) Encoding - Recall - Retention

4) Encoding - Retention – Recall

20) ìã+~Û‘· ñB›|üq Ò̋≈£î+&Ü ìã+~Û‘· ñBΔ|üq Áø£eT+

‘·|üŒ≈£î+&Ü Á|üjÓ÷–ùdÔ ìã+~Û‘· ñB›|üq ‘·q kÕeTsêú́ ìï

b˛>=≥Tº≈£îqï~

1) ñqï‘· Áø£eT ìã+<Ûäq 2) Á{°dt ìã+<Ûäq

3) $s¡eTD 4) nj·T‘·ï dæ<äΔ kÕ«düú́ eTT

Which of the following term is used to describe
the  gradual decrease in response that occurs
when the conditioned stimulus is presented
repeatedly without the unconditioned
stimulus?
1) Higher Order Conditioning

2) Operant conditioning

3) Extinction

4) Spontaneous recovery

21) dæ] ;<ä yê]øÏ düVü‰j·T+ #˚j·T&É+qT #·÷dæq

‘·*¢<ä+Á&ÉT\T dæ]ì yÓT#·TÃ≈£îHêïs¡T. á |ü⁄q:X¯Ãs¡D+

e\q ù|<äyê]øÏ düVü‰j·T+ #˚j·T&É+ dæ]øÏ n\yê≥T>±

e÷]+~ Çø£ÿ&É nuÛÑ́ düq+ »]–q $<Ûëq+

1) mdt `ÄsY ìã+<Ûäq

2) ÄsY `mdt̀  ìã+<Ûäq

3) yÓ’ø±]j·Tdt yÓ÷&É*+>¥

4) n+‘·sY<äèwæº nuÛÑ́ düq+

Parents who saw Siri helping the needy they

praised Siri. Due to this reinforcement, it has

become a habit for Siri to help the poor. Which

type of learning is this?

1) S - R provision 2) R - S provision

3) Vicarious modelling 4) Insight learning

22) á ÁøÏ+~ yêì˝À dü+dæ<äΔ‘ê dü÷Á‘êìï dü÷∫+#˚~.

1) düeT ej·TdüTÿ˝…’q |æ\¢\+<ä]øÏ ˇπø e÷~]

nuÛÑ́ düq nqTuÛÑyê\qT ø£*Œ+#ê*.

2) ñbÕ<Ûë´j·TT&ÉT |æ\¢yêìøÏ nuÛÑ́ düq nqTuÛÑyê\qT

ø£*ï+#·&ÜìøÏ m≥Te+{Ï Á|üj·T‘·ï+ #̊j·T≈£L&É<äT.

3) |æ\¢\ ◊<äT dü+e‘·‡sê\ ej·TdüT˝À bÕsƒ¡XÊ\

$<ä́ ≈£î dü+dæ<äT›\T ne⁄‘ês¡T.

4) ñbÕ<Ûë´j·TT&ÉT |æ\¢yêì e÷qdæø£ dæú‹ >∑T]Ô+#˚

dü+y˚<äq o\‘·.

Which of the following indicates the principle
of readiness?
1) Provide similar learning experiences for all

children of the same age

2) The teacher should not make any effort to

impart learning experiences to the child

3) Children will be ready for school by the age

of five

4) Teacher should have the sensitivity to

recognize the mental state of a child

23) Ç+Á~j·T C≤„q |ü⁄qsYe´ed”úø£s¡D nH̊~ Ä˝À#·q jÓTTø£ÿ

Á|üÁøÏj·T eT]j·TT |òü*‘êìøÏ dü+ã+~Û+∫ ñ+≥T+<äì

•yêì qeTTà‘·T+~. ÄyÓT qeTàø£+ á dæ<ëΔ+‘êìøÏ

#Ó+~q~.

1) ¬>kÕº\Tº yê<ä+

2) Á|ües¡Ôq yê<ä nuÛÑ́ düq dæ<ëΔ+‘·+

3) Áã÷qsY dü+C≤„Hê‘·àø£ nuÛÑ́ düq+

4) ã+&É÷sê |ü]o\Hê nuÛÑ́ düq+

The belief that the reorganization of the senses
is related to the process and outcome of
thought. implies the following theory
1) Gestalt theory

2) Behavioural learning theory

3) Bruner’s cognitive learning

4) Bandura’s observation practice

24) yÓ÷{≤s¡T ø±s¡TqT u≤>∑T #̊j·T>∑\ e´øÏÔ yÓ÷{≤s¡T uÀ≥TqT

≈£L&Ü u≤>∑T #˚j·T>∑\&ÉT. Bìì dü÷∫+#·T nuÛÑ́ düq

ã<ä̋ ≤sTT+|ü⁄ dæ<ëΔ+‘·+.

1) düeTs¡÷|ü eT÷\ø±\ dæ<ëΔ+‘·+

2) kÕe÷˙´ø£s¡D dæ<ëΔ+‘·+

3) Ä<äsêÙ\ dæ<ëΔ+‘·+

4) düeTÁ>±ø£è‹ dæ<ëΔ+‘·+
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repair a motor boat. Which Theory of Transfer

of Learning indicates this ability?

1) Theory of similar elements

2) Generalization theory

3) Theory of ideals

4) Integral theory

25) $<ë´ Vü≤≈£îÿ #·≥º+ 2009 Á|üø±s¡+ ~>∑Te Á|üe#·q+˝À

ˇø£{Ï dü¬s’q~.

1) ìØí‘· e´e~Û <ë{Ïq ‘·sê«‘· Á|üẙX̄+ Çe«≈£L&É<äT

2) ã~© <Ûäèe|üÁ‘·+ ̋ Òì#√ Á|üẙX̄+ ‹s¡düÿ]+#·e#·TÃ

3) ej·TdüT≈£î ‘·–q ‘·s¡>∑‹˝À H˚s¡T>± Á|üy˚X¯+

Çe«≈£L&É<äT

4) ã~© <Ûäèe|üÁ‘·+ ̋ Ò<äì Á|üẙX̄+ ‹s¡düÿ]+#·≈£L&É<äT

One of the following prophecies is correct

under the Right to Education Act 2009?

1) Admission should not be given after the

stipulated period

2) Admission may be denied without a transfer

certificate

3) Admission to an age-appropriate class

should not be allowed

4) Admission should not be denied even if

transfor certificate is not produced.

26) $<ä́  kÕe÷õø£ uÛÑÁ<ä‘· nH˚$ u≤\\ Vü≤≈£îÿ\˝À ÁøÏ+~

eØZø£s¡D˝À ñ+{≤sTT.

1) J$+#˚ Vü≤≈£îÿ 2) n_Ûeè~Δ #Ó+<̊ Vü≤≈£îÿ

3) ùd«#êÃ¤ Vü≤≈£îÿ 4) s¡ø£åD Vü≤≈£îÿ

Education and Social Security fall into the

following category of children’s rights?

1) Right to life          2) The right to develop

3) The right to freedom  4) Right to protection

27) sêCÒwt nqT Á|ü<ÛëH√bÕ<Ûë´j·TT&ÉT bÕsƒ¡XÊ\˝À ìs¡«Væ≤+#̊

ø±s¡́ Áø£e÷\≈£î dü+ã+~Û+∫ ‘·qT ˇø£ÿ&˚ ìs¡íj·÷\qT

rdüT≈£î+{≤&ÉT. Ç‘·s¡ ñbÕ<Ûë´j·TT\‘√ @ e÷Á‘·+

#·]Ã+#·&ÉT. nsTTq, n‘·qT á s¡ø£yÓTÆq Hêj·Tø£‘ê«ìøÏ

#Ó+<äTqT.

1) ìs¡+≈£îX¯ Hêj·Tø£‘·«+

2) Á|üC≤kÕ«eT´ Hêj·Tø£‘·«+

3) …̋’ôdCŸ|òæsY Hêj·Tø£‘·«+

4) nqTeT‹+#˚ Hêj·Tø£‘·«+

Rajesh, a Headmaster takes decisions related

to activities in the school on his own without

consulting other teachers. His leadership is

described as ___________.

1) Authoritarian leadership

2) Democratic leadership

3) Laissez-Faire Leadership

4) Permissible leadership

28) NCF 2005 Á|üø±s¡+ uÀ<Ûäq nH˚~ Bì ø=s¡≈£î

ìπs›•+#·ã&ç+~.

1) bÕsƒê´+XÊ\qT |üP]Ô #˚j·T&ÜìøÏ

2) C≤„q ìsêàD≤ìøÏ

3) düe÷#êsêìï n+<äCÒj·T{≤ìøÏ

4) kÕ+πø‹ø£ HÓ’|ü⁄D≤´\qT ô|+bı+~+#·&ÜìøÏ

Teaching is prescribed for this purpose

according to NCF 2005

1) To complete the syllabus

2) For the construction of knowledge

3) To provide information

4) To develop technical skills

29) ˇø£ $<ë´]ú 2001ì sêj·TeTq>± Ä $<ë´]ú <ëìì

20001 nì sêXÊ&ÉT. n‘·ìøÏ øÏ+~ nuÛÑ́ düq yÓ’ø£\´+

ñ+&Ée#·TÃqT.

1) &çôd¢øÏ‡j·÷ 2) &çdt |ò”dæj·÷

3) &çdt Á>±|òæj·÷ 4) &çdt ø±˝Ÿÿ*j·÷

A student writes 20001 instead of 2001. He is

suffering with which of the following learning

disability?

1) Dyslexia 2) Dysphasia

3) Dysgraphia 4) Dyscalculia

30) ñbÕ<Ûë´j·TT&ÉT uÀ<ÛäHêuÛÑ´düq Á|üÁøÏj·T »s¡T|ü⁄≥≈£î

Á|üD≤[ø£\T ‘·j·÷s¡T #˚j·TT≥, á uÀ<ÛäHê <äX¯≈£î

#Ó+<äT‘·T+~.

1) ñ‘·Ôs¡ #·sê´‘·àø£ 2) |üPs¡« #·sê´‘·àø£

3) Á|ü‹ #·sê´‘·àø£ 4) |üs¡düŒs¡ #·sê´‘·àø£

Making Lesson plans for the teacher to carry

out the teaching process involves which phase

of teaching?

1) Post-active Phase

2) Pre-active Phase

3) Reactive Phase

4) Interactive Phase

A person who can repair a motor car can also

www.telugueducation.in
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PART-II :  ‘Ó\T>∑T eT]j·TT ô|&É>±õ (TELUGU (LANGUAGE-II) CONTENT & PEDAGOGY)

(31`34)

ñ‘·ÔeT >∑TDeTT\T ˙#·THé

ø£‹Ôi>∑THé >∑\T>∑H˚s¡TÃ HÓj·T´&É\Hé <ë

HÓ‹Ô∫Ã ø£i– b˛dæq

ì‘·Ô&ç ã+>±s¡eT>∑THÓ ã\˝À düTeTr

31) me]øÏ eT+∫ #˚dæHê eT+∫ ãT<äT›\T sêe⁄?

1) ˙#·T&çøÏ 2) n<ÛäeTT&çøÏ

3) 1,2 4) >∑‘·«eTTqïyê]øÏ

32) Bìï ø£]–ùdÔ ã+>±sêìøÏ düe÷q+ ø±<äT?

1) yÓ+&ç 2) Ç‘·Ô&ç

3) ì¬ø˝Ÿ 4) |ü⁄‘·Ô&ç

33) ô|’ |ü<ä́ +˝À ªm‘ÓÔi>∑THéμ |ü<ëìøÏ ns¡ú+?

1) á $<Ûä+>± 2) Ä $<Ûä+>±

3) @ $<Ûä+>± 4) |ü\T $<Ûë\T>±

34) ô|’ |ü<ë´ìøÏ o]¸ø£qT >∑T]Ô+#·+&ç?

1) ˙#·T&ÉT e÷s¡&ÉT

2) ˙#·T&ÉT e÷s¡T‘ê&ÉT

3) ˙#·T&ÉT eT+∫yê&Ée⁄‘ê&ÉT

4) ô|’y˚M ø±e⁄

(35`38)

#·<äTe⁄ø√ì kÕe÷q´ Á|ü»\≈£î ‘·s¡‘·sê\T>± edüTÔqï

H√{Ï e÷≥\ uÛ≤wü ˇø£ÿfÒ yê&ÉTø£˝À ñ+&É>±,

#·<äTe⁄≈£îqï yêfi¯fl≈£î Ä uÛ≤wü‘√ bÕ≥T Á>∑+<∏ë˝À¢ ñqï

ø±e´ uÛ≤wü ≈£L&É nedüs¡yÓTÆ+~. ø±yê´\T sêùd≥|ü⁄&ÉT

‘·eT≈£î |üPs¡T«\T sêdæq uÛ≤wü̋ ÀH˚ ‘êeTT ≈£L&Ü sêdü÷Ô

e#êÃs¡T. |üPs¡T«\T ñ|üjÓ÷–+∫q #·+<ÛädüT‡˝ÀH̊ ‘êeT÷

ñ|üjÓ÷–dü÷Ô e#êÃs¡T. ø±˙ ø±yê´\qT >∑T]+∫`H√{Ï‘√

#Óù|Œ≥|ü⁄Œ&ÉT yê&ÉTø£ uÛ≤wü̋ ÀH˚ $e]dü÷Ô yêU≤´ìdü÷Ô

e∫Ãq Ä $es¡D\qT, yêU≤´Hê˝≤qT sêj·T&É+ yÓTT<ä\T

ù|fÒºdü]øÏ ø±e´ uÛ≤cÕ Á|üuÛ≤e+ ø=+‘· #=s¡ã&ÉT‘·÷

e∫Ã+~. Ç~ e´eVü‰]ø£, Á>±+~Ûø £ uÛ≤wü\qT

ø£*|æq≥¢ì|ædüTÔ+~. n<̊ ñ<̊›X̄´ |üPs¡«ø£+>± »]–+<äì

#Ó| üŒ&ÜìøÏ M\T˝Ò< äT. nsTTHê e#·q s¡# ·Hê

kÕ+Á|ü<ëj·÷ìøÏ yê&ÉTø£ uÛ≤ùw Á|ü<Ûëq+>± ñ+&˚~.

35) #·<äTe⁄≈£îqï yêfi¢̄≈£î @ uÛ≤wü nedüs¡yÓTÆ+~.

1) ø±e´ uÛ≤wü 2) dü+düÿè‘·+

3) e´eVü≤]ø£ uÛ≤wü 4) ‘·$Tfi¯uÛ≤wü

36) ø±yê´\qT H√{Ï‘√ @ uÛ≤wü̋ À #Óù|Œyês¡T

1) Á>±+~Ûø£ uÛ≤wü 2) yê&ÉTø£ uÛ≤wü

3) ÁbÕNq uÛ≤wü 4) dü+düÿè‘· uÛ≤wü

37) yêU≤´Hê\T #˚ùd ≥|ü&ÉT @ uÛ≤wü ñ+&˚~?

1) Ä<ÛäTìø£ uÛ≤wü 2) |üs¡ uÛ≤wü

3) ø±e´ uÛ≤wü 4) Ä+>∑¢ uÛ≤wü

38) e#·q s¡#·q≈£î yê&çq uÛ≤wü?

1) dü+düÿè‘· uÛ≤wü 2) yê&ÉTø£ uÛ≤wü

3) ÁbÕNq uÛ≤wü 4) |üs¡ uÛ≤wü

39) s¡eT´ …̋’ÁãØ˝À |ü⁄düÔø£+ rdüTø=ì, #·<äTe⁄ø=qT#·÷, ñ

<√´>∑+ eùdÔ ø£*π> Äq+<ëìï |ü+#·Tø=+≥Tqï~. Ç+<ä*

ndüe÷q Á|üÁøÏj·T?

1) ø±«s¡úø£+, #˚<äs¡úø£+, X¯Á‘·s¡Δø£+

2) ø±«s¡Δø£+, n|ǘ s¡úø£+, #˚<äs¡úø£+

3) ø±´+&ÛÉø£+, #˚<äs¡úø£+, n|ǘ s¡úø£

4) ø±«s¡úø£+, X¯Á‘·s¡úø£+, #˚<äs¡úø£+

40) ª N]ø£μ ˝À ª#·μ ì @eT+{≤s¡T?

1) ø£+sƒ¡́ + 2) ‘ê\e´+

3) eT÷s¡Δq´+ 4) <ä+X¯́ +

41) dü«s¡ uÛ≤s¡‹, uÛÑøÏỒ <˚X¯uÛÑøÏÔ nqTq$

1) π>j·T dü+ø£\Hê\T 2) ø£$‘ê dü+ø£\Hê\T

3) ø£<Ûë dü+ø£\Hê\T 4) yê´dü dü+ø£\Hê\T

42) <ëX¯s¡~Û s¡+>± #ês¡T´\≈£î πø+Á<ä kÕVæ≤‘·́  nø±&ÉMT

nyês¡T¶ ‘Ó∫Ãq s¡#·q?

1) y˚sTT |ü&É>∑\T 2) y˚T|òüT <Ûä÷‘·+

3) ∫\¢s¡ <˚e⁄fi¯ó¢ 4) n∫\+ Je⁄

43) ªªẙT|òüT&É+ãT~ÛøÏ b˛sTT uÛÑ\+ãT ‘Ó∫Ã ÇkÕÔs¡T ̋ Àø√|üø£s¡Ô\

øÏ~ düVü≤»>∑TDeTTμμ  Ç+<ä* n\+ø±s¡+

1) nsêΔ+‘·s¡ yê´kÕ\+ø±s¡+

2) <äècÕº+‘ê\+ø±s¡+

3) Bqø±\+ø±s¡+

4) nqq«j·÷\+ø±s¡+
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44) ÁøÏ+~ yêì˝À $X‚wüD |üPs¡«|ü<ä ø£s¡à<Ûës¡j·T düe÷kÕìøÏ

ñ<ëVü≤s¡D

1) ‘=*¢{Ï sêE\T 2) ‘·eTTà≈£îÁs¡\T

3) Vü≤è<√´<ë‘·ÔeTT 4) ø£s¡ø£eT\eTT

45) ãTTD≤s¡í+ $&ÉBj·T>±

1) ãTTD+G ãTTD+ 2) ãTTD G ãTTD+

3) ãTTD+G ãTTD 4) ãTTD G ns¡í+

46) sêE u≤>± #·~yê&ÉT. sêE |üØø£å sêXÊ&ÉT. M{Ïì dü+•¢wüº

yêø£́ +>± e÷s¡Ã>±

1) sêE u≤>± #·~$s¡ì |üØø£å sêXÊ&ÉT.

2) sêE u≤>± #·~$ |üØø£å sêXÊ&ÉT.

3) sêE u≤>± #·~yê&ÉT ø±˙ |üØø£å sêj·T Ò̋<äT

4) s¡$ u≤>± #·~yê&ÉT |üØø£å sêXÊ&ÉT

47) yêq\T ≈£î]dæHê |ü+≥\T |ü+&É̋ Ò<äT. Ç~ @ yêø£́ +?

1) ‘·TeTTHêïs¡Δø£+ 2) n|ǘ s¡úø£+

3) nq+‘·sê´s¡Δø£+ 4) uÛ≤yês¡Δø£+

48) }s¡÷s¡+ »qT …̋\¢ »ø£åyÓT&É̋ À, j·T+&É+ >∑TVü≤\¢\ZH√

Ç~ @ |ü<ä́ +

1) ñ‘·Œ\e÷\ 2) #·+|üø£e÷\

3) eT‘Ô̊uÛÑ+ 4) XÊs¡÷Δ\+

49) ‘Ó\+>±D˝À ¬s’‘·T b˛sê≥ ñ<ä́ eT+ ñyÓ«‘·TÔq kÕ–+~.

(^‘· –dæq |ü<ëìøÏ HêHês¡ú+)

1) j·T‘·ï+, Á|üj·T‘·ï+ 2) j·T‘·ï+, b˛sê≥+

3) ø£\Vü≤+, dæ<ä›eTe≥+ 4) j·T‘·ï+, ø£èwæ

50) sêeT|üŒ >∑T&ç k˛j·T>∑+  es¡íHêr‘·+ (^‘· ̂ dæq |ü<ëìøÏ

|üsê´j·T |ü<ë\T

1) n+<ä+, #·+<ä+ 2) n+<ä+, kı>∑düT

3) kı>∑düT >=|üŒ<äq+ 4) n+<ä+, s¡+>∑T

51) ˙≈£î Hêô|’ $XÊ«düeTT  ̋ Ò<äT (^‘· ̂ dæq |ü<ëìøÏ $ø£è‹

|ü<ä+)

1) $düTyêdüeTT 2) $XÊ«dü+

3) $kÕ«dü+ 4) $düyêdü+

52) ã*>± Çe«ã&çq \Vü≤s¡+‘√ b˛wæ+#·ã&˚~

1) <ë«+ø£åeTT 2) eTÚø£*

3) ã* |ü⁄wüŒeTT 4) ø£s¡≥eTT

53) @<Ó’Hê düìï ẙX̄+ >∑+<äs¡>√fī+>± ñqï<äì ‘Ó*j·T CÒj·TT

dü+<äs¡“¤+˝À ñ|üjÓ÷–+#·T C≤rj·T+

1) njÓ÷eTj·T+ 2) ≈£L|üdüú eT+&É÷ø£+

3) ns¡D´ s√<Ûäq 4) s¡kÕuÛ≤dü+

54) ª]ø±+μ nH˚ ‘Ó\+>±D |ü<äeTTq≈£î ns¡ú+

1) rs¡ø£ 2) ø£wüº+

3) Áø°‘·+ 4) ‘˚*ø£>±

55) $<ë´s¡Tú\T nuÛÑ́ düq kÕeTsêú́ \qT kÕ~Û+#·T≥≈£î>±qT

uÛ≤c˛bÕ<Ûë´j·TTì#˚ s¡÷bı+~+#·ã&˚ Á|üD≤[ø£˝À

#˚s¡ì~?

1) dü+kÕú>∑‘· Á|üD≤[ø£ 2) j·T÷ì{Ÿ Á|üD≤[ø£

3) |”]j·T&é Á|üD≤[ø£ 4) yê]¸ø£ Á|üD≤[ø£

56) ñbÕ<Ûë´j·TT&ÉT ‘êqT uÀ~Û+∫q n+XÊ\˝À ‘·q

$<ë´s¡Tú\ düeTTbÕs¡®qqT ‘êH˚ n+#·Hê y˚j·T&Üìï

@eT+{≤s¡T.?

1) ãVæ≤s¡Z‘· eT÷˝≤´+ø£q+

2) n+‘·s¡Z‘· eT÷\´+ø£q ìsêΔs¡D

3) ˝À|ü ìsêΔs¡D eT÷˝≤´+ø£q+

4) ÁbÕ>∑TøÏÔø£ eT÷˝≤´+ø£q+

57) #ês¡Tº\T, bòÕ¢wt ø±s¡T¶\T, ∫Á‘ê\T, <˚X¯|ü{≤\T, |ü{Ïºø£\T

qeT÷Hê\T, u§eTà\T, >√&É |üÁ‹ø£\T nqTq$?

1) ÁX¯e´ uÀ<ÛäHêuÛÑ́ düq ñ|üø£s¡D≤\≈£î #Ó+~q~

2) <äèX¯́  uÀ<ÛäHêuÛÑ́ düq ñ|üø£s¡D≤\≈£î #Ó+~q~

3) <äèX̄´`ÁX̄eD uÀ<ÛäHêuÛ≤düq ñ|üø£s¡D≤\≈£î #Ó+~q~

4) Á|ü‘̊´ø£ $<ë´s¡Tú\≈£î nedüs¡yÓTÆq uÀ<ÛäH√|ü ø£s¡D≤\≈£î

#Ó+~q~.

58) ªª qeT÷Hê\Tμμ á s¡ø£yÓTÆq uÀ<ÛäH√|üø£s¡D≤\T?

1) Á‹bÕs¡Ù´`<äèX¯́ 2) @ø£¡ bÕs¡Ù«`<äèX¯́

3) ~«bÕs¡Ù«`ÁX¯eD

4) ~«bÕs¡Ù«` <äèX¯́  ÁX¯eD

59) s¡kÕqTuÛÑ÷‹, kÕVæ≤‘ê´_Ûs¡T∫, Á|üX¯+düHê X¯≈£îÔ\qT

$<ë´s¡Tú̋ À¢ ô|+bı+~+#·&É+ á kÕVæ≤r Á|üÁøÏj·÷ uÀ<ÛäHê

Á|ü<Ûëq ñ<›̊XÊ\T?

1) yê´dü uÀ<Ûäq 2) yê´ø£s¡D uÀ<Ûäq

3) |ü<ä́  uÀ<Ûäq 4) >∑<ä́  uÀ<Ûäq

60) ñø£Ô ˝ÒKq+ es¡Tdü>±..............

1) sêj·÷*, $Hê*, dü]~<äT›ø√yê*.

2) $Hê*, dü]~<äT›ø√yê*, sêj·÷*.

3) $Hê*, sêj·÷*, dü]~<äT›ø√yê*.

4) dü]~<äT›ø√yê*, sêj·÷*, $Hê*.

www.telugueducation.in
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Read the Passage
Long ago a king name Manunidhi cholan had

a bell installed outside his place gates to dispense
justice. How astonished he was when one day, a cow
pulled the cord of the bell! He learnt the truth through
with eyewitness. His son rode a chariot over the calf,
killing it instantly. Manunidhi did not bat an eyelid.
The king ordered the chariot to be driven over his son!

As the entire kingdom bore witness the sight of
the young prince, who was about to be crashed by the
chariot, the gods themselves descended to earth,
stopped Manunidhi and saved his son. The king was
happy but he was distraught at the cow’s loss. Legend
goes that the cow, moved by the king’s righteousness,
licked her dead calf back to life.
61) Choose the most appropriate title for the

passage.
1)The King.
2) Manunidhi cholan the Great.
3) A Cow seeks Revenge.
4) The Righteous King.

62) What did the king do to dispense justice
1) he started court of law.
2) he installed a bell at his palace gates.
3) he saw that his subjects did not have any

disputes.
4) he was a very just king.

63) Who was the culprit in the passage?
1) one of the courtiers.
2) the Cows master.
3) the King’s Son.
4) one of the soldiers.

64) How did the king know about the crime.
1) throught the secret service staff.
2) throught the people who saw the criminal act.
3) throught his ministers.
4) throught the cow.

65) Fill the blank with correct verb form
It’s late. It’s time we ………………. home.
1) went. 2) go.
3) had gone. 4) have gone.
Identity the language function in the following
expression.

PART-III : Ç+ ¢̂wüT eT]j·TT ô|&É>±õ (ENGLISH CONTENT & PEDAGOGY)

66) What do you think of my joining the club.
1) accepting invitation.
2) greeting someone.
3) asking for opinions.
4) disagreeing with someone.
Choose the Correct preposition

67) His Experience, furnished
him…………………… a wide knowledge of
humanity.
1) with 2) by
3) of 4) over

68) You have hours that glow jewel like and
exquisite. Here the word “Exquisite” means.
1) disturbed mood
2) unpleasant time
3)completely exhausted
4) of great excel

69) In the word “mortgage” the silent letter is.
1)  r 2)  t 3) a        4) o

70) Some People/are interested /
         1                 2
but the majority/doesn’t care

    3     4
Find out which part of sentence has an error.
1) some people 2) are interested
3) but the majority 4)doesn’t care

Fill in the blanks with appropriate words given
under
Computer is a great………..(71) to mankind.
With  enormous promise but like everything man
has touched, it is liable to take many wrong turns.
A primitive……………….(72) is the automatic
pilot. This is obviously an asset to the airman
allowing him to perform longer
without…………..(73). But it is a serious
………………..(74) to leave a plane in sole
charge of it, cases when this has been done have
led  to disaster or near disaster.

71) 1) bane 2) boon 3) doom
4)nightmore

72) 1) adventure 2) history 3) example
4) war

73) 1) rest 2) change 3) failure
4) fatigue
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74) 1) mask 2)rule 3) violation

4) move

Choose the correct Question tag.

75) I have never spent Christmas alone

before……………..?

1) isn’t it 2) haven’t I

3) aren’t I 4) have I

76) The Chipko message is fine.

The adverb form of the adjective  ‘fine’ is:

1) finery 2) fineness

3) finesse 4) finely

77) Identify the second persons response

Person 1 : Didn’t you go shopping yesterday?

Person 2 :………………………

1) No, I did 2)Yes, I did

3) No, I had come 4)Yes I didn’t

78) Choose the correct pair of words to fill in the

blanks

……………….the weather good when you

………………. On holiday?

1) was-were 2) were-were

3) were-was 4) was-was

79) Identify the correct word to fill in the blank

He eats………………….. banana every morning

1) a 2) the

3) any 4) an

80) Identify the active form of the sentence

She likes being admired

1) She likes people admiring her

2) She would like if she admired others

3) She likes to admiring others

4) She likes admiring others

81) Identify the part of speech of the word

underlined in the following sentences.

He bought a gold ring for his wife.

1) conjunction 2) pronoun

3) adjective 4) noun

82) The reported form of the sentence

She thought, “I’m sure it is not dangerous.”

1) She didn’t think it was dangerous

2) She thought it wasn’t dangerous surely

3) She thought that wasn’t dangerous

4) She was sure that it was not dangerous

83) Choose the word with the correct spelling

1) Hapened 2)Happened

3) Hapenned 4) Happenned

84) Choose the set of words which are in

alphabetical order

1) Center, Centimeter, celebrity, celebration

2) Celebrity, centimeter, celebration, center

3) Celebration, celebrity, centimeter, center

4) Celebration, celebrity, center, centimeter.

85) An approach has a …………………….

1) A method behind it

2) Learning principle behind it

3) Some language patterns behind it

4) A technique behind it

86) How many syllables are there in the word

‘examination?’

1) Three 2) Four

3) Six 4) Five

87) Tongue-twister can be used effectively to

improve

1) Grammar 2) Spelling

3) Pronunciation 4)Vocabulary

88) The test item matching of sentences with

pictures test

1) Speaking skill 2) Listening skill

3) Reading skill 4)Writing skill

89) A student passes your test on spoken English

but cannot speak English outside the school.

Then your test is not ……………….

1) Scorable 2) Practicable

3) Reliable 4) Valid

90) To which category does a TV belong as a

teaching aid?

1) Authentic aid 2)Visual aid

3) Audio aid 4) Audio-visual aid
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91) ˇø£ eT÷&É+¬ø\ dü+K´qT es¡Tdü>± 2 kÕs¡T¢ sêj·T>±

e#̊Ã 6 n+¬ø\ dü+K´ á ÁøÏ+~ yêì˝À <̊ì#̊ $X‚Ùwü+>±

uÛ≤–+|üã&É<äT.

1) 7 2) 11

3) 13 4) 17

A six digit number which is formed by writing

a three digit number twice is divisible by which

of the following number

1) 7 2) 11

3) 13 4) 17

92) o‘·©ø£s¡D <ë«sê 40
00000C e<ä› >∑\ >∑~ ñc į́Á>∑‘· Á|ü‹

>∑+≥≈£î 500000C     #=|üq #·\¢ãs¡#·ã&ÉT‘·T+~. o‘·©ø£s¡D

ÁbÕs¡+_Û+∫q 10 >∑+≥\ ‘·sê«‘· >∑~ ñc į́Á>∑‘·

1)  10
0C 2) `10

0C
3)  20 4) `20

0C
By refrigerating a room which is at 40°C cools

down 5°C each hour, then the temperature

after 10 hours is

1) 10°C 2) -10°C

3) 20°C 4) -20°C

93) 19/13 n|üÁø£eT _Ûqï+˝À \e+ 304 e⁄+&˚ $<Ûä+>±

@s¡Œ&ÉT düe÷q _Ûqï+˝À Vü‰s¡+

1) 208 2) 198

3) 204 4) 308

If the numerator of an equal fraction of 19/13

is 304 then the denominator is

1) 208 2) 198

3) 204 4) 308

94) 16 n+X¯eTT\ dü>∑≥T 16, yê{Ï qT+&ç 16 nqT

n+X¯eTTqT ‘=\–+∫ 5,5 eT]j·TT 6 nqT

n+X̄eTT\qT ø£\T|ü>± @s¡Œ&çq q÷‘·q <ä‘êÔ+X̄+ jÓTTø£ÿ

dü>∑≥T....

1) 16 2) 12

3) 14.22 4) 13.50

The average of 16 observations is 16. From

that an observation 16 is deleted and

observations 5,5 and 6 are added. Then the

average of newly formed data is

1) 16 2) 12

3) 14.22 4) 13.50

95) eT÷&ÉT $_Ûqï s√&É¢ ≈£L&Éfi¯fl˝À Á{≤|òæø˘ dæ>∑ï˝Ÿ 48 ôdˆˆ

72 ôdˆˆ 108 ôdˆˆ \≈£î ˇø£ kÕ] e÷s¡T‘·T+{≤sTT.

ne˙ï ø£*dæ 8 >∑+ˆˆ\ 20 ì$TcÕ\ düeTj·TeT|ü&ÉT

e÷]‘˚, eTs¡\ @ düeTj·T+ n|ü&ÉT ne˙ï ø£*dæ

e÷s¡T‘êsTT.?

1) 8 >∑+ˆˆ 27 ìˆˆ 14 ôdˆˆ

2) 8 >∑+ˆˆ 27 ìˆˆ 12 ôdˆˆ

3) 8 >∑+ˆˆ 26 ìˆˆ 32 ôdˆˆ

4) 8 >∑+ˆˆ 26 ìˆˆ 12 ôdˆˆ

Traffic signals at three places changes for every

48 sec, 72sec, 108sec.If there is a change in 3

places at 8hr20 min, then next change is at

1) 8hr27min14sec 2) 8hr27min12sec

3) 8hr26min32sec 3) 8hr26min12sec

96) x:y=5:2 nsTTq (8x+9y): (8x+2y) $\Te?

1) 22:29 2) 26:61

3) 29:22 4) 61:26

If x : y = 5 : 2 then (8x+9y) : (8x+2y) is

1) 22:29 2) 26:61

3) 29:22 4) 61:26

97) ø=+‘· kıeTTà 3 dü+ˆˆ ø±\+˝À 4% e&û¶  #=|üq

s¡÷. 2240 yÓTT‘·Ô+ nsTTq~. n<˚ kıeTTàô|’ 6 HÓ\\

ø±˝≤ìøÏ 3.5% #=|üq e&û¶ m+‘·?

1) s¡÷. 30 2) s¡÷. 50

3) s¡÷. 35 4) s¡÷. 150

The amount is deposited for 3 yrs at the

interest rate 4% then Rs.2240 is obtained. If

we deposit the same amount for 6 months at

the rate of 3.5% then the interest obtained is

1) Rs.30 2) Rs.50

3) Rs.35 4) Rs.150

98) ˇø£ |ü&Ée ø=+‘· <ä÷sêìï Á|üj·÷DÏ+#·T≥≈£î Á|üyêVü≤

e´‹πsø£ ~X¯̋ À 258 ìˆˆ qT Á|üyêVü≤~X¯̋ À 240 ìˆˆ

\qT rdüT≈£î+~. |ü&Ée ẙ>±ìøÏ eT]j·TT Á|üyêVü≤ ẙ>∑+

jÓTTø£ÿ ìwüŒ‹Ô m+‘·?

1) 2:1 2) 3:2 3) 8:3 4) 3:8

If a boat travels a certain distance in opposite

direction of flowit takes 258 min and towards

the flow it takes 240 min, then the ratio
between the speed of boat and speed of flow is
1) 2:1 2)3:2 3)8:3 4)3:8

PART-IV : >∑DÏ‘·+ eT]j·TT ô|&É>±õ (MATHEMATICS  CONTENT  & PEDAGOGY)

www.telugueducation.in



TS
U
TF

 M
O

D
E
L 

TE
T-

20
22

www.tsutf.org Booklet Code: A

99) ÁøÏ+~ yêì˝À 3 eT<Ûä́ >∑‘· πsK\ b˛&Ée⁄\qT düe÷q+>±

ø£*–j·TT+&ÉT Á‹uÛÑT»+

1) düeT~«u≤VüQ Á‹uÛÑT»+

2) $wüeTu≤VüQ Á‹uÛÑT»+

3) \+ãø√D Á‹uÛÑT»+

4) ô|’ y˚$ ø±e⁄

If the medians of a triangle are equal then the

triangle is

1) Isosceles triangle 2) scalene triangle

3) Right angled triangle 4)none of the above

100)s√E≈£î 6 >∑+ˆˆ \ e+‘·Tq |üì#˚dü÷Ô 24 eT+~ ˇø£

|üìì 14 s√E\˝À #˚j·T>∑\s¡T. nsTTq s√E≈£î 7

>∑+ˆˆ\T |üì #̊dü÷Ô 36 eT+~ n<̊ |üìì mìï s√E\˝À

|üP]Ô #˚kÕÔs¡T.?

1) 10 2) 8 3) 6 4) 7

persons working together for 6 hours a day

can complete a piece of work in 14 days. 36

persons working together for 7 hours a day

can complete the work in ___ days

1) 10 2) 8 3) 6 4) 7

101) ˇø£ dü+K´˝À 75%≈£î 75 qT ø£*|æq n<˚ dü+K´

e#·TÃqT. Ä dü+K´˝À 40 % $\Te m+‘·?

1) 100 2) 80 3) 120 4) 160

If 75 is added to 75% of a number, we get the

same number then 40% of that number

1) 100 2) 80 3) 120 4) 160

102) 8a2b2,12a3b2, 24a4b3c2 \ >∑.kÕ.uÛ≤...

1) 4a2b2 2) 8a2b3c2

3) 24a4b2c2 4) @~ ø±<äT.

G.C.D of 8a2b2, 12a3b2, 24a4b3c2

1) 4a2b2 2) 8a2b3c2

3) 24a4b2c2 4) None of the above

103) ‹s¡́ Áπ>K≈£î Çs¡TyÓ’|ü⁄\ ñ+&ç, Ädüqï ø√D≤\T ø±ì

n+‘·s¡ ø√D≤\ »‘·qT............n+{≤s¡T.

1) dü<äèX¯́  ø√D≤\T 2) @ø£ u≤Vü≤´ ø√D≤\T

3) @ø±+‘·s¡ ø√D≤\T 4) n+‘·s¡ ø√D≤\T

The angles interior and on either side of the

transversal which are not adjacent are called

1) Corresponding angles 2) Exterior angles

3) Alternative angles 4) Interior angles

104) á ÁøÏ+~ |ü≥+˝À QRS ̌ ø£ düs¡fīπsK eT]j·TT PQR

düeT~« ãVüQ Á‹uÛÑT»+ nsTTq x $\Te

1) 65

2) 70

3) 72

4) 83

In the following figure QRS is a straight line

and PQR is a issoceles triangle, Then the value

of x is.

1) 65

2) 70

3) 72

4) 83

105) ùw&é #˚dæq ÁbÕ+‘·+ yÓ’XÊ\´+ m+‘·?

1) 14.625 cm2

2) 13.625 cm2

3) 15.625 cm2

4) 11.625 cm2

The area of shaded region of the given figure

is

1) 14.625 Cm2

2) 13.625 Cm2

3) 15.625 Cm2

4) 11.625 Cm2

106)     ABCD  #·‘·Ts¡T“¤»+˝À AB⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟CD eT]j·TT A:

D=1:2, C:               B=4:5  nsTTq        A= ____,                C= ____

1) 60
0
, 120

0
2) 80

0
, 100

0

3) 60
0
, 100

0
4) 60

0
, 80

0

In a quadrilateral ABCD, AB⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟ CD A:  D=1:2

and C:  B=4:5 then the value of   A=__; C__

1) 600, 1200 2) 800, 1000

3) 600, 1000 4) 600, 800

107) ÁøÏ+~ yê{Ï̋ À πsU≤ kÂwü̃eü+ ø£*– ñqï~ @~?

1) #·<äTs¡T“¤»+ 2) M nqT nø£ås¡+

3) Á‹uÛÑT»+ 4) F nqT nø£ås¡+

____ consists linear symmetry

1) Quadrilateral 2) Letter ‘M’

2) Triangle 4) Letter ‘F’

1380

138
0

3Cm

4Cm

4Cm

3Cm
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108) ̌ ø£ düeTu≤VüQ Á‹uÛÑT» yÓ’XÊ\´+˝À ‘·s¡T>∑T<ä\ XÊ‘·+

36% nsTTq <ëì #·T≥Tºø=\‘·̋ À ‘·s¡T>∑T<ä\ XÊ‘·+....

1) 10% 2) 15%

3) 20% 4) 25%

The reducing percentage of equilateral

Triangle is 36% Then the reducing percentage

of its perimeter is____

1) 10% 2) 15%

3) 20% 4) 25%

109) ¬s+&ÉT eè‘·Ô yê´kÕsêΔ\ ìwüŒ‹Ô 3:5 nsTTq yÓTT<ä{Ï

eè‘·Ô yÓ’XÊ\´+, ¬s+&Ée eè‘·Ô yÓ’XÊ\´+ ø£+fÒ m+‘· XÊ‘·+

‘·≈£îÿe?

1) 36% 2) 64%

3) 25% 4) 75%

The ratio of radii of two circles is 3:5, then the

area of first circle in___less to the area of

second circle.

1) 36% 2) 64%

3) 25% 4) 75%

110) zõyé eÁø£+ <ë«sê á ÁøÏ+~ πø+Á<ä kÕúq ø=\‘·qT

>∑DÏ+#·e#·TÃ?

1) n+ø£ eT<Ûä́ eT+ 2) ãVüQfi¯ø£+

3) yê´|æÔ 4) eT<Ûä́  >∑‘·+

By the central tendency of  ogive curve ___can

be calulated

1) arithmatic mean 2) mode

3) Range 4) median

111) 11 qT+&ç 1000 es¡≈£î >∑\ dü+K´\˝À 3 #˚

uÛ≤–+|üã&ÉT dü+K´\ yÓTT‘·Ô+

1) 165815 2) 166585

3) 166815 4) 145615

The sum of divisors of 3 between 11 to 1000

is___

1) 165815 2) 166585

3) 166815 4) 145615

112) ˇø£ ‘√≥˝À mìï es¡Tdü\T ø£\y√ ˇø=ÿø£ÿ es¡Tdü̋ À

n+‘·≈£î ¬s{Ïº+|ü⁄ #Ó≥T¢ ø£\e⁄. Ä ‘√≥˝Àì yÓTT‘·Ô+

#Ó≥T¢ 450 nsTTq, Ä ‘√≥˝Àì es¡Tdü\ dü+K´?

1) 15 2) 25

3) 20 4) 12

In a garden the number of trees in each row is

twice the number of rows If the total number

of trees in the garden is 450 then the number

of rows in the garden is

1) 15 2) 25

3) 20 4) 12

113) ˇø£ eTT‘ê´\ Vü‰s¡+˝Àì eTT‘ê´\qT 6 >∑Ts¡T

|ü+#·Tø=q>± 1 $T–*+~, 7 >∑Ts¡T |ü+#·Tø=q>± 1

$T–*+~, 8 eT+~ |ü+#·Tø=q>± 1 $T–*q, Ä

Vü‰s¡+˝Àì eTT‘ê´\ dü+K´.

1) 144 2) 143

3) 168 4) 169

If  6 people shares the pearls from pearl

garland 1 is left, if 7 people shares 1 is left, if 8

people shares 1 is left then Total number of

pearls in the garland is

1) 144 2) 145

3) 168 4) 69

114) 40,000G3000G200G10G3 G   G   G

R

1) 43203.128

2) 43213.128

3) 43213.0128

4) 40,321,3128

40,000+3000+200+10+3 +     +      +        =

1) 43,203.128 2) 43213.128

3) 43213.0128 4) 40,321.3128

  8
1000

 2
100

1
10

  8
1000

 2
100

1
10
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115) ªª |üs¡düŒs¡ dü+^‘ê …̋’q d”«ø£è‘ê\ dü÷∫ ‘·|üŒì dü]>±

ñ‘·ŒqïeTj˚T´ |òü*‘ê\ düeTÁ>∑ #·s¡Ã >∑DÏ‘·+ nì

‘Ó*|æq~?

1) u…+õeTHé ÁbòÕ+øÏ¢Hé 2) u…+õeTHé |ò”sY‡

3) u…Á{≤+&é s¡ôd‡˝Ÿ 4) ˝≤ø˘

Reciprocal Musical Receipts Index Essential

Outcomes Comprehensive Discussion is

mathematics who said this statement?

1) Benjeman Frankelen

2) Benjemen pheers

3) Betrand Ruseel

4) Lock

116) $<ë´]ú ªªdü÷ú|ü+, X¯+≈£îe⁄ jÓTTø£ÿ eÁø£‘·\ yÓ’XÊ\´+

dü+|üPs¡í‘·\ yÓ’XÊ\´+ ø£qT≈£îÿ+{≤&ÉTμμ Ç~ @ \ø£ǻ +

1) C≤„q+ 2) ne>±Vü≤q

3) nq«j·T+ 4) HÓ’|ü⁄D´+

Students will find curved surface area and

total surface area This Statement comens

under which Objective

1) Knowledge 2) Under standing

3) Application 4) Skill

117) ªnH˚«wüD |ü<äΔ‹μì s¡÷bı+~+∫q~

1) ô|kÕº\J 2) n>∑d”ºHé

3) ÄsYàÁkÕº+>¥ 4) ø=$Tìj·Tdt

‘Huristic’ method  proposed by

1) Pestology 2) Augusten

3) Armstrong 4) Comenius

118) ªm&ÜZsY&˚̋ Ÿ nqTuÛÑe X¯+≈£îe⁄μ˝À ÁøÏ+~ qT+&ç ô|’øÏ

yÓfi‚flø=\~.

1) eT÷s¡Ô‘·«+ ô|s¡T>∑T‘·T+~

2) neT÷s¡Ô‘·«+ ô|s¡T>∑T‘·T+~

3) Á|ü‘·́ ø£å+ ô|s¡T>∑T‘·T+~

4) |üs√ø£å+ ‘·>∑TZ‘·T+~

If we move from Bottom to top in Edgar Dale’s

cone of Experience what will happen

1) Abstract increase

2) Concrete increase

3)Directiveness increase

4) Indirectiveness in crease

119) düMT|ü uÛ Ñ$wü´‘·T Ô˝À rdüTø√e\dæq #·s¡´ø√dü+

s¡÷bı+~+∫q |ü<∏äø£+/ e÷s¡Z<ä]Ùì

1) yê]¸ø£ |ü<∏äø£+

2) j·T÷ì{Ÿ |ü<∏äø£+

3) bÕsƒ¡́  |ü<∏äø£+

4) |”]j·T&é bÕ¢Hé

The plan the guidelines for the future actions

1) Year plan

2) Unit plan

3) Lesson plan

4) Period plan

120) ñbÕ<Ûë´j·TTìøÏ  ‘·q uÀ<Ûäqô|’ m|üŒ{Ïø£|ü&ÉT ‘·–q

| ü]| ü ⁄w æ º  \_ Û+∫, uÀ< Û äqqT eT]+‘ ·

yÓTs¡T>∑T|üs¡#·Tø√&ÜìøÏ <√Vü≤<ä|ü&˚~.

1) bÕsƒ¡́  Á|üD≤[ø£

2) $<ë´ Á|üD≤[ø£

3) ìsêàD≤‘·àø£ eT~+|ü⁄

4) dü+Á>∑Vü≤D≤‘·àø£ eT~+|ü⁄

The teacher will always have a suitable

cushion on his teaching which will help them

to improve further?

1) lesson plan

2) Education plan

3) Formative assessment

4) Summative assessment
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121) ‘N     uÛ≤s ¡´ M’ E, N øÏ k˛<äs ¡T& ÉT. E, S \T

nHêï#Ó̋ …¢fi¯ó¢ P, S jÓTTø£ÿ ≈£îe÷s¡T&ÉT P, M qT @eTì

|æ\yê*

1) n\T¢&ÉT 2) ô|<ä›eTà

3) n‘·Ô 4) e÷eT

M is N’S wife. E is N’s brother. E and S are

brother and sister. P is S son. What should P

call M?

1) Son-in-law 2) Mother’s Eldest Sister

3) Aunty 4) Uncle

122) ø£ã&û¶ Ä≥≈£î dü+ã+~Û+∫ dü]ø±ì~

1) 14 eT+~ Ä≥>±fi¯ófl, 7 >∑Ts¡T #=|üq ¬s+&ÉT

»≥T¢>± @s¡Œ&ç Ä&É‘ês¡T.

2) Á|ü‹ »≥Tº≈£î 6 >∑Ts¡T n<äq|ü⁄ Ä≥>±fīófl ñ+{≤s¡T.

3) Ä≥© 6 >∑Ts¡T n+ô|’s¡T¢ ñ+{≤s¡T.

4) ˇø=ÿø£ÿ $uÛ≤>±ìøÏ πø{≤sTT+#˚ düeTj·T+ 20ìˆˆ

$sêeTø±\+ 5 ìˆˆ yÓTT‘·Ô+ Ä≥ Ä&˚ düeTj·T+

45 ìˆˆ.

The incorrect statement  regarding the game

kabaddi is

1) 14 players divide into 2 teams of 7 each

2) 6 extra players in each team

3) 6 umpires will be there in the game

4) each team is alloted 20 minites with a breack

of 5 mninutes, the game is played in 45 min.

123) ÁøÏ+~ yêì˝À $_ÛqïyÓTÆq~

1) ;s¡ 2) #êeT+‹

3) ø±ø£s¡ 4) eT …̋¢

Odd one in the following is

1) ridge gourd 2) Chrysanthemum

3) bitter gourd 4) Jasmine

124) ø±|üsY dü̋ ÒŒ¤{Ÿ, k˛&çj·T+ ôV’≤Á&Ü¬ø’‡&é\ $TÁX̄eT+ <ë«sê

ìsêΔ]+#·Tq~

1) |æ+&ç |ü<ësêú\T 2) Áø=e⁄«\T

3) Áb˛{ÏqT¢ 4) $≥$TqT¢

_____ are Identified using the mixture of cop-

per sulphate and sodium hydroxide

1) Carbohydrates 2) fats

3) Proteins 4) Vitamins

125) #ê]àHêsY ìsêàD+ »]–q dü+e‘·‡s

1) 1529`_dæ 2) 1529`m&ç

3) 1591`_dæ 4) 1591`m&ç

Charminar was built in the year

1) 1529-BC 2) 1529 AD

3) 1591 BC 4) 1591 AD

126) ≈£î+&É\T ‘·j·÷Ø $<Ûëq+˝À dü¬s’q Áø£eT+

(m) ã+ø£eT{Ïº Hêqu…≥º&É+ (_) dü\|ü‘√ ø=≥º&É+,

(dæ) ã+ø£eT{Ïº ‘·e≥+ (&ç) kÕ¬sô|’ ‹|üŒ≥+ (Ç)

Äe+˝À ø±\Ã≥+ (m|òt) ˙&É̋ À Äs¡ì∫Ã, m+&É̋ À

Äs¡u…≥º&É+

1)  dæ,m,_,&ç,Ç,m|òt 2) dæ,m,&ç,_,m|òt,Ç

3)  dæ,m,_,&ç,m|òt,Ç 4) dæ,m,&ç,_,Ç,m|òt

The correct sequence in the processed mak-

ing pots

(a) soaking the clay (b) beating with a wooden

plate (salapa)  (c) getting clay  (d) rotating clay

on the  wheel pots (e) baking in the kiln (f) dry-

ing the pot in the shade  and then sun dry them.

1) c,a,b,d,e,f 2) c,a,d,b,f,e

3) c,a,b,d,f,e 4) c,a,d,b,e,f

127) ~yê´+>∑T\ ~H√‘·‡e+ m|ü&ÉT »s¡T|ü⁄≈£î+{≤s¡T

1) nø√ºãsỲ 1 2) qe+ãsY-14

3) &çôd+ãsỲ 3 4) e÷]Ã`22

World disabled Day is celebrated on

1) 1st October 2) 14th November

3) 3rd December 4) 22nd March

128) i) sêeT|üŒ #Ós¡Te⁄ ( ) m) q˝§Z+&É

ii) bÕq>∑\T¢ #Ós¡Te⁄ ( ) _) eq|ü]Ô

iii)     düs¡fi¯ kÕ>∑sY ( ) dæ) eTT\T>∑T

1) i`m, ii`_, iii`dæ 2) i`_, ii`dæ, iii`m

3) i`dæ, ii`_, iii`m 4) i`dæ, ii`m, iii`_

PART-V : |ü]düsê\ $C≤„q+ eT]j·TT ô|&É>±õ (ENVIRONMENTAL CONTENT  & PEDAGOGY)
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i) Ramappa tank( ) A) Nalgonda

ii) Panagal tank ( ) B) Wanaparthy

iii) Saralasagar ( ) C) Mulugu

1) i-A, ii-B, iii-C 2) i-B, ii-C, iii-A

3) i-C, ii-B, iii-A 4) i-C, ii-A, iii-B

129) |ü+#·>∑e« nqTq~

1) ùd+ÁBj·T ms¡Te⁄

2) ùd+ÁBj·T dü÷ø£åàJeHê•ì

3) s¡kÕj·Tq ÁøÏ$T düVü≤s¡ø£+

4) 1   2

Panchagavya is

1) an organic manure

2) an organic pesticide

3) a chemical inseceticide

4) 1 & 2

130) ÁøÏ+~ yêì˝À dü]ø±ì yêø£́ +

1) y˚|ü, ‘·T\dæ, Ä≈£î\qT eT+<äT\ ‘·j·÷]˝À

yê&É‘ês¡T

2) b˛˝À Ä≥˝À ñ|üjÓ÷–+#˚ ø£Ás¡qT ªªe÷˝…{Ÿμμ

n+{≤s¡T

3) |ü&Ée Ç\T¢\T ø£sêï≥ø£, ø±oàsY̋ À ñ+{≤sTT.

4) ø±ø£ºdt, ø£\ã+<ä̀ m&Ü] yÓTTø£ÿ\T

The incorrect statement among the followings

1) Leaves of neem and tulsi are used in prepar-

ing medicines

2) The stick used in Polo is called mallet

3) Boat houses are found in Karnataka and

Kashmir

4) Cactus and aloevera are desert plants

131) C…{Ÿ $e÷Hê\T á Äes¡D˝À Á|üj·÷DÏkÕÔsTT

1) Á{Àb˛ Äes¡D+ 2) ÁkÕº{À Äes¡D+

3) ◊H√ Äes¡D+ 4) <Ûäs√à Äes¡D+

Jet plants travel in

1) Troposphere 2) Stratosphere

3) Ionosphere 4) Thermosphere

132) ªªs¡øÏå‘· eT+∫˙{Ï düs¡|òüsê <äX¯\Tμμ`dü¬s’q Áø£eT+

1) #Ós¡Te⁄, e&Éb˛‘·, @πswüHé, ø√¢]H˚wüHé, zesY ôV≤&é

{≤´+ø˘, ø=fi≤sTT\T

2) #Ós¡Te⁄, @πswüHé, ø√¢]H˚wüHé, zesYôV≤&é {≤´+ø˘,

e&Éb˛‘·, ø=fi≤sTT\T

3) #Ós¡Te⁄, ø√¢]H˚wüHé, @πswüHé, e&Éb˛‘·, zesYôV≤&é

{≤´+ø˘, ø=fi≤sTT\T

4) #Ós¡Te⁄, e&Éb˛‘·, @πswüHé, ø√¢]H˚wüHé, zesYôV≤&é

{≤´+ø˘, ø=fi≤sTT\T

The correct sequence  of the Stages in Pro-

tected safe drinking water supply process is

1) Tank, filtaration, aeration, chlorination, over

head tanks, taps

2) Tanks,aeration,chlorination,over head tank-

filtration-taps

3) Tanks,chlorination, aeration,filtration, over-

head tank, taps

4) Tank, filtration, aeration, chlorination, over-

head tank, taps

133) u≤\\ bÕs¡¢yÓT+{Ÿ˝À ñ+&˚ u≤\\ ej·TdüT‡

1) 6`14 dü+ˆˆ\ u≤\Ts¡T u≤*ø£\T

2) 6`18 dü+ˆˆ\T u≤\Ts¡T, u≤*ø£\T

3) 6`14 dü+ˆˆ\ u≤\Ts¡T e÷Á‘·y˚T

4) 6` 18 dü+ˆˆ\ u≤*ø£\T e÷Á‘·y˚T

Age of Children in children’s parliament

1) Girls and boys of 6-14 yrs

2) Girls and boys of 6-15 yrs

3) Onl boys of 6-14 yrs

4) Onl girls of 6-18 yrs

134) |ü{≤\˝À ñ|üjÓ÷–+#̊ ªªeTT<äTs¡T }<ëμμ s¡+>∑T M{Ïì

dü÷∫düTÔ+~.

1) ã+»s¡T uÛÑ÷eTT\T 2) |”sƒ¡uÛÑ÷eTT\T

3) KìC≤\T 4) |üs¡«‘ê\T

The ‘dark blue’colour used in maps indicate

1) barren lands 2) plateaus

3) minerals 4) mountains
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135) yÓ÷≥T|ü*¢ nuÛÑj·TXÊdüq+ y˚sTT+∫q~

1) s¡TÁ<äeT<˚$ 2) s¡TÁ<ä<˚e⁄&ÉT

3) >∑D|ü‹ <˚e⁄&ÉT 4) Á|ü‘ê|üs¡TÁ<äT&ÉT

Motupally abhaya shasana Inscription was

made by

1) Rudrama Devi 2) Rudra devudu

3) Ganapati devudu 4) Prataprudrudu

136) ‘Ó\+>±D dü]Vü≤<äT›\≈£î dü+ã+~Û+∫ dü]ø±ì~

1) ñ‘·Ôs¡+, yêj·TTe´+`eTVü‰sêh

2) áXÊq´+`#Û·rÔdt|òüT&é

3) |ü•ÃeT+`ø£sêï≥ø£

4) <äøÏåD+, ‘·÷s¡TŒ`Ä+Á<ÛäÁ|ü<˚XŸ, ˇ&çcÕ

Mismatched pair with regards to Telangana

borders

1) North, North west-Maharashtra

2) North east-Chathis garh

3) West-Karnataka

4) South, east-Aundhra Pradesh, Odissa

137) ICAR düèwæº+∫q ¬s’‘·T $TÁ‘·T\T

1) Á{≤øÏj·÷ 2) f…ÆÁø√Á>±e÷

3) {≤HéÁ>±yéT 4) NeT, yêqbÕeTT, bÕeTT

Farmess’friends created by ICAR are

1) Trachea 2) Trichogramma

3) Tangram 4) ant, earth warm, snaks

138) ÁøÏ+~ yêì˝À @ø£*+>∑ |ü⁄wüŒ+

1) ñyÓTà‘·Ô 2) e+ø±j·T

3) <√dü 4) eT+<ës¡

Unisexual flower among the following is

1) Datura 2) Brinjal

3) Cucumber 4) hibiscus

139) ÁøÏ+~ yêì˝À dü]ø±ì~

1) ÄøÏô|Hé̀  Á>±eT<˚e‘·

2) uÀ+&ÉT\ u≤wǜ  ]yÓ÷

3) ô|+≥\ düeTT<ëj·T+`Á>±eT+

4) Vü≤‘ê`◊<äTs√E\ C≤‘·s¡

The incorrect pair among the following is

1) akipen-Village goddess

2) lanugage of Tribal Bond-Remo

3) Group of Pentas-a village

4) Hatha-A five day fair

140) ÁøÏ+~ yêì˝À dü]ø±ì »‘·

1) Ms¡ düeTTÁ<ä+`‘ê{ÏbÕeTT\

2) >√bÕ\ düeTTÁ<ä+` HÓ\÷¢s¡T

3) eTVü‰uÛÑ÷bÕ˝Ÿ düeTTÁ<ä+`ô|uÒ“s¡T

4) X¯+ø£s¡ düeTTÁ<ä+`ø√HêsTT|ü*¢

The incorrect pair among the following is

1) Veerasamudram-Thatipamula

2) Gopala Samudram- Nellore

3) Mahabhupala Samudram-Pebberu

4) Shankarasamudram-Konaipally

141) ªªeT*ÿuÛ≤sêe÷μμ nì |æ\eã&çq >√˝Àÿ+&É qyêãT

1) ÇÁãV”≤+ ≈£î‘·TuŸcÕ 2) nãT›̋ ≤¢ ≈£î‘·TuŸcÕ

3) eTVü≤à<é ≈£î© ≈£î‘·TuŸ cÕ 4) düT˝≤ÔHé ≈£î©

The Nawab of Golconda who was called as

Malkibhiram

1) Ibrahim Qutub shah

2) Abdullah Qutubshah

3) Quli Qutub shah

4) Sultan Quli

142) á ÁøÏ+~ ìC≤+sêE\≈£î ~yêHé>± kÕ\sY»+>¥

ñHêï&ÉT.

1) ìC≤+ n©U≤Hé, dæø£+<äsYC≤, Hêdæs¡T<Í›̋ ≤

2) dæø£+<äsYC≤, Hêdæs¡T<Í›̋ ≤, Ä|ü®\T<Í›̋ ≤

3) HêdæsY<Í›̋ ≤, Ä|ü®\T<Í›̋ ≤, eTVü≤ã÷uŸ n©U≤Hé

4) n|ü®\T<Í›̋ ≤, eTVü≤ã÷uŸ n©U≤Hé, MTsY ñkÕàHé

n©U≤Hé

Salarjung was tha dewan of the  following

Nizam Kings

1) Nizam Ali khan-Sikandar jha, Nasiruddoula

2) Sikandar jha, Nasiruddaula, Afzaluddaula

3) Nasirddoula, Afzaluddaula, Mahabuba Ali

khan

4) Afzaluddoula, Mahabub Alikhan, Mir Osman

Ali
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143) uÛ≤s¡‘·<˚X¯+˝À sêÁcÕº˝À πø+Á<ä ÁbÕ+‘ê\T dü+K´

es¡Tdü>±

1) 29, 9 2) 28, 8

3) 29, 8 4) 29, 9

The number of state and union territories in

India respectively are

1) 29, 9 2) 28, 8

3) 29, 8 4) 29, 9

144) ø=eTTs¡+ ;Û+ >∑T]+∫ dü]ø±ì yêø£́ +

1) »qàdüú\+ ` dü+πø|ü*¢

2) ìHê<ä+ ` »˝Ÿ, »+>∑̋ Ÿ, »MTHé

3) ã+u≤sê+, <ä÷|üô|{Ïº nqTeì ìC≤ $~Û+#·T

|üqTï\T

4) ‹s¡T>∑Tu≤≥TqT ÄD∫+~`ôV’≤eTHé &ÜsYŒ¤

The incorrect sentence about Komaram

Bheem is

1) Birthplace-Sankepally

2) Slogan-Jal, Jungle-jameen

3) bambram, dupapethi are the taxes levied by

Nizam

4) Haimen dorf suppressed the rebellion

145) sêπøwt nH̊ $<ë´]ú Á|üjÓ÷>∑XÊ\˝À Á|üjÓ÷>∑ ìs¡«Vü≤D≈£î

nedüs¡yÓTÆq |ü]ø£sê\T, s¡kÕj·THê\T mqTïø=Hêï&ÉT.

nsTTq $<ë´]ú kÕ~Û+∫q \ø£ǻ +

1) C≤„q+ 2) ne>±Vü≤q

3) $ìjÓ÷>∑+ 4) øöX¯\+

Rajesh has selected the equipment and chemi-

cal necessary for an experiment in the lab.

He achieved the objective

1) Knowledge 2) Understanding

3) Application 4) Skill

146) ÁbÕC…ø˘º |ü<äΔ‹˝À nuÛ≤´dü ìj·TeTeTTqT dü÷∫+#·T

k˛bòÕq+

1) 2 2) 3

3) 4 4) 5

The step that indicates the rule of execution

in project method is

1) 2 2) 3

2) 4 4) 5

147) yÓ’y˚]j·TT q+<äT á n+X¯+ >∑T]Ô+#·̋ ÒeTT

1) yÓTTø£ÿ\ XÊ«düÁøÏj·T, øÏs¡D»q´ dü+jÓ÷>∑ÁøÏj·T

2) yÓTTø£ÿ\T, »+‘·Te⁄\ düVü≤Jeq+

3) ñuÛÑj·T #·sê\ Jeq $<Ûëq+

4) »+‘·Te⁄\ Jeq+ô|’ \eD≤\ Á|üuÛ≤e+

The  aspects that we cannot identify in a vi-

varium

1) respiration and photosynthesis in plants

2) coexistance of plants and animals

3) Life style of amphibians

4) Effect of salts on life of animals

148) »+‘·Tsê»´ eØZø£s¡D #·÷|ü⁄ #ês¡Tº

1) e+X¯ #ês¡Tº 2) eèø£å

3) Á|üyêVü≤ 4) fÒãT˝Ÿ

The chart that shows the classifiation of ani-

mal kingdom

1) Family tree 2) Tree

3) Flow chart 4) Table

149) ˝øå±´‘·àø£ ‘·≈£îÿe>± >∑\ Á|üX¯ïs¡÷|ü+

1) yê´dü 2) dü+øÏå|üÔ

3) \|òüT 4) $wüj·Tìwüº

Question form that is close ended

1) Essay 2) Short

3) Very short 4) Objective

150) ẙ<ëHȩ́ nH̊ $<ë´]ú sêdæq düe÷<Ûëq |üÁ‘êìï q\T>∑Ts¡T

y˚s¡T y˚s¡T ñbÕ<Ûë´j·TT\T >∑Dq #˚dæq|ü⁄&ÉT 45/50,

46/50, 44/50, 43/50 nH˚ e÷s¡Tÿ\T es¡Tdü>±

e#êÃsTT. nsTTq Ä |üØø£å̋ À ˝À|æ+∫q \ø£åD+

1) $X¯«dü̇ j·T‘· 2) \øå±´‘·àø£‘·

3) düÁ|üe÷D‘· 4) $#·ø£åD

When four differenc teachers evaluated the

answersheet Written by Vedansh, the marks

scored were 45/50, 46/50, 44/50, 43/50. The

test lacked.

1) Reliability 2) Objectivity

3) Standard 4) Discretion
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